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1. The frame for a shipping crate is to be constructed from 20 feet of 2 x 2 lumber. If the crate is to have
square ends of side x feet, express the volume of the crate as a function of x.
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5. Use synthetic division to find the quotient and remals‘nﬂe““‘ffﬁ“ first polynomaal is divided by the
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6. Use synthetic division to find f(c).
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7. Use synthetic division to find f(c). Leave your answer in radical form.

-

f(x) =x*+3x—5; c=2+3 2;_5 l 3 -5 _
| , ¥[8 13+7/3

7 58 (875

8. Find all values of k such that f(x) is divisible by the given linear polynomial.
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9. An arch has the shape of the parabolay = 9-x —x°. Arectangle is fit under the arch by selecting a point
(x,y) on the parabola. Ifx =1, the rectangle has base 2 and height 8. Find the base of a second
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10. Show that the number is a zero of f(x) of the given multiplicity and express f(x) as a product of linear
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11. Determine the number of positive, negative, and imaginary solutions 6fthe equation.
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12. A polynomial f(x) with real coefficients and leading coefficient 1 has the given zeros and degree.

Express f(x) as a product of linear and quadratic polynomials with real coefficients jhat are irred 3ble
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13. Find all solutions of the equation 20X° + 111x* + 515¢ = 20x%=0. .
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14. Find all values of x such that f(x) < 0.
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15. Find all values of x such that f(x) <0
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16. Find an equation of a rational function f that satisfies the conditions:
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Find an equation of a rational function f that satisfies the conditions:
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